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Raster-1 X vs. Raster-1 Y
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Raster-1 X vs. Spectrometer Y-Target
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Hydrogen Elastic Peak Squared (uncorrected) vs. Raster X Hydrogen Elastic Peak Squared (uncorrected) vs. Raster Y

091 profl 091 prof2
‘% E Entries 110610 ‘% E Entries 110610
o E Mean 3585 o E Mean 3624
g905 Meany 0.8993 8.905 Meany 0.8993
I RMS 139.1 £ F RMS 149.5
° 09— RMSy 0.01502 ° 09— e - RMSy 0.01502
% osf + - e +_|_ % o9 ~|~ PN ot
¢ E ¢ E

0.895 [— 0.895 [—

0.89 |- 0.89 |-

0.885 |~ 0.885 |~

088 088

0.875 0.875

O T T DI IR P D I P B T O T T DI IR P B PR T T P

3100 3200 3300 3400 3500 3600 3700 3800 3900 4000 4100 3100 3200 3300 3400 3500 3600 3700 3800 3900 4000 4100
current (x) [ADC Channel] current (y) [ADC Channel]
Hydrogen Elastic Peak Squared (corrected) vs. Raster X Hydrogen Elastic Peak Squared (corrected) vs. Raster Y

091 prof3 091 prof4
‘% E Entries 111034 ‘% E Entries 111034
o E Mean 3585 o E Mean 3623
ggos — Meany 0.8971 g905 — Meany 0.8971
I RMS 139.1 £ F RMS 149.5
€ o9 RMSy 0.01547 S o9 RMSy 0.01547
4 - 4 -
§ o ~|—¢-"’-n—.-__-.—..*"__—-*"‘-—"—.—.—"’~=.—*’+"*—"++-|- § F +_.,-.—.-"'4—u*—'-+"'*--*"'"'+*-"'-..~q-_._~—u~q-++

0.895 [— 0.895 [—

0.89 |- 0.89 |-

0.885 |~ 0.885 |~

088 088
0.875 0.875

O T T DI I P D IR P B T O T T DI I P B PR T N P

3100 3200 3300 3400 3500 3600 3700 3800 3900 4000 4100 3100 3200 3300 3400 3500 3600 3700 3800 3900 4000 4100

current (x) [ADC Channel] current (y) [ADC Channel]



(o]
o
=~

Peak Posttion (GeV?)
3
N

o
©

0.898

0.896

0.894

0.892

0.89

Hydrogen Elastic Peak Squared (corrected) vs. Y Position at Target

29.19/20
0.8971+ 0.0001

X2 I ndf
- po
B pl -5.982e-06 + 4.533e-05
B | 4+ + T o L
- T+~ + + T
_IIII|IIII||III||III||III||III|IIII|IIII|IIII|IIII
-6 -5 -4 -3 -2 -1 0 1 2 3 4

Position [mm]




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


